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3. U fd ¢ argH 3, 2, 7, 4, 13, 10, 21, 18, 3. Replace the incorrect term by the correct
31, 28, 43,40 H, TTAd UG H1 W1 UG A IGW, G81  term in the given sequence 3, 2, 7, 4, 13, 10, 21,
fwn ug ok ¥W ug WAE Ued &1 SR 1g, 31, 28, 43, 40 where odd terms and even

@j_ﬂ W&mhuem.
Zmo 5(2)7, 412 10,2118, 30038, 3, 40
(b) 1 C \ (b) 1
(c) 3 »_ ()3

(d) 6 @ T ot [are 2L

UPSC (Pre.) 2021 + 1O UPSC (Pre.) 2021



4.9 g m Hd fRATEE: 4. vou are given two @ﬁsequ@n two

el [ 8] 4 [ 6 ] 15 [ 52536
equencedl | 5 A | B B | <t

-

3 H- n*ﬁﬁc‘%mwawﬁf@%? What is the entry in the place of C for the

@25 SxX'S=& S Sequence-l? &S = < 4
(b) 5 SRR = 3:7'; (a) 2.5 ‘\’%\& G- ;f

(c) 9.375 '?)75 % Q"S: (b) 5
(d) 32.8125 ym 375 o3

UPSC (Pre.) 2021 (d) 32.8125
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6.FFafafea densit & srgHH U= fdaR FISA- 6. Consider the following sequence of numbers:
51473985726315863852243496 Ej47—-857263—-86385—224?436

W ford gu o # fha-t fauw J@msif & How many odd numbers are followed by the odd

a1¢ faww T@m ot 82 number in the above sequence?
o T
(b) 6 (3) 5 ir—
()7 86
(d) 8 (c) 7

UPSC (Pre.) 2020 (d) 8
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7. GIE{WIB, 20, 24, 30, 32. TAF 7. A simple mathematical operation in each
&I # U Ovd Mg 6far §RT SIUTS number of the sequence 14, 18, 20, 24, 30, 32,

HEITl BT TP AJHH W fFar Srar 81 R d | results in a sequence with respect of prime

A B STgsPH P AT ST B2 numbers. Which one of the following is the next
[~ =137132-1= 3 ’ number in the sequence?
@34 \0-1=17
036 Zo-| =19 (a) 34 @ﬂ:}\&
©38 Jd4-1=92 (b) 36

g 304?—229 {38

UPSC (Pre.) 2020 (d) 40
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13. ¥ensl & Fufaf@a ufadT W AR 43 consider the following pattern of numbers:
[ ( % 8101513

PIfor-
81015 13 @ (,(5)) 7 4 gz : g
22 3 ; c/ 8/ & 61116 2
6 ?

. - w6 116
SudE Ufowy # 2 F WA W SHE-A1 w@n %17 1248 =9
T gasa6s G (®) 19

@17 0t6=16"S = ' {c) 1

w1 \519=937 1716 5

() 21

(d) 23

UPSC (Pre.) 2018

? What is the number at ? in the above pattern?

DN

UPSC (Pre.) 2018



4.4 &3 ¢ 3Tefe WY faaR Fifor: 14. Consider the following matrix:

#uy Rig () 3@ @ A g o7 182 3 (8 |10 [2 A2 D\1
20 /

38 (00275 ® %) |6 |2 0
6 5% |90 |2 20 (0 What is the missing number at "?" in the matrix?
&
(@) 5 ERAC P O R S
(b)O 5X‘7_§6 (b) 0 Sl q = A 8 &é
(©7 |2x9 =90 < LN N £
@7 \6-\o=\So-\o=9
@3 LR e i A
\XO = (O upsc (Pre.) 2015 Q-2=4-"2= é?
i

@Xﬂ- RO \ & \‘"\ZQ UPSC (Pre.) 2015






15. 907t 7, X, 21, 31, 43 ﬁﬁfﬂm 'X'®TE?  15. What is the missing number ‘X' of the series

7, X,21,31,43,7

(a) 11 7, a‘, 3’/ 4-5
(b) 12 V (a) 11

(©) 13 @ @ @ (b) 12

(d) 14 (© 13~

UPSC (Pre.) 2015 (d) 14
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16. 7 & T IRt W AR FIA, Rrgd 16. Consider the table given below in which the
@Y ufRdl & 91y 499 # fINy wrgws numbers bear certain relationship among

Tl 7 m ‘ @ 2 s ::Iz%nselves along the rows:
+2 Tt (29 [13 ] 18
33 19 Py

e 331 X9
G0 [ 27 |3+ 1:+H8= 6O so5il s
Prafaf@a § @ #19-W v d@n, Iudad x gr1 Which one of the following numbers is the
sia g Hen &2 224194 L= GO missing number indicated above by X?
(a) 19 (a) 19
(b) 15 S&"th GO (b) 15

(c) 14 -, QQ—SQ:@«)M

% (d) 8
UPSC (Pre.) 2014
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17. Fafafaa mﬁﬁf 2 17. Consider the following matrix:
sl
GI0 7 |~ 342

S faa Y 31ofe X &AW ﬁ:[-'\!ﬂ What is the number at ‘X' in the above matrix?

&1 82 a%’teﬁ (a) 5 ‘2-—, ? &

Ve (b) 8 'So-\fa
ms  F+6{229 (©)9 /
kdﬂ/” . (d) 11

(d) 11 UPSC (Pre.) 2013
UPSC (Pre.) 2013
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